Ratio to CMS

S’ =
(b} 9 I
O 10
S

2 108
o=
(_{107
O

B 10°
©

ﬂl IIIIIIWI IIIIII|Y| IIIIII|Y| IIIIIWI IIIIIWI IIIIIWI IIIIIW IIIIIIWI IIIIII|Y|

7000 GeV pp

Jet P, (NSD, 2.5< |y| < 3.0)

m CMS
Pythia 6.425 default
—a— Pythia 8.301 default

Jets
I

UL AR R AL L L

L bl IIIIIlI]I IIIIIlIII IIIIIlIII IIIIIIlII IIIIIIlII IIIIIIHI IIIIIIHI IIIIIlIII IIIIIlIII IIIIIlIII IIIIIIlII IIIIIIlII IIIIIIHI

[EEY

0.5 -

Rivet 3.1.0, = 7.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

=

0.5



	Contents
	Page 1


